Physics 2A


Name_________________ 

Momentum Worksheet 

Turn this problem in at the beginning of the next lecture.
A 3.0kg block on a level frictionless surface moving to the right (+x-direction) at 3.0m/s collides with a 2.0kg block moving to the left (-x-direction) at 4.0m/s. The collision is completely inelastic.
a. Calculate the speed of the two blocks after the collision.
b. Calculate the impulse (magnitude and direction) delivered to the 3.0kg block.

c. If the interaction time is 0.30s, what is the force (magnitude and direction) acting on the 3.0kg block?

d. Calculate the impulse (magnitude and direction) delivered to the 2.0kg block.

e. If the interaction time is 0.30s, what is the force (magnitude and direction) acting on the 2.0kg block?

f. Calculate the work done on the 3.0kg block.

g. Calculate the work done on the 2.0kg block.

h. How much energy is lost during the collision? How is your value related to your answers to parts f and g?
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